Gidi bai 10 trang 64 sgk toan Hinh Hoc lop 10

Dé bai

Cho tam giac ABC vudng tai A va goc B= 500. Hg¢ thirc nao sau day 1a sai?
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A (AB,BC) = 130"
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B.(BC,AC) =40

C.(AB,CB) = 50"

D. (AC,CB) = 120°
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Ta c6 (ﬁ , @) — BCz = 180° — ACB= 180" — (90° — 50°) = 140°.

Chon D

Toan I6p 10
Hoc Tap — L&p 10


https://doctailieu.com/toan-lop-10-c685
https://doctailieu.com/toan-lop-10-c685
https://doctailieu.com/hoc-tap-c106
https://doctailieu.com/lop-10-c262
https://doctailieu.com/giai-toan-dai-so-lop-10-bai-1-trang-9-sgk

